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The Sampled-Data H. Problem: Obtaining an equivalent discrete-time system

via a closed-loop expression of worst—case disturbance
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Abstract : This paper aims at deriving an equivalent finite dimensional discrete-time system for He type problem for

samnpled-data control systems. A widely used approach is based on the lifting technique, but it needs somewhat complicate
computation. Instead, this paper derives an equivalent finite-dimensional discrete-time system directly from a description of
the sampled-data system which is achieved via a closed-loop expression of the worst-case intersample disturbance.

Keywords : Sampled-Data System, Lifting, Worst-Case Disturbance, Matrix Exponential, Inverted Pendulum.
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Fig. 1. Sampled-data He control system
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